
arborgrip

arborstruct

arborclad

arborboard

arborpad

arborrooms

arborjoist

arborrail

Attractively priced and offered in three 
convenient ordering options: ready-to-
install modules, and prefabricated or 
standard single components.

arborgrip

arborstruct

arborclad

arborboard

arborpad

arborrooms

arborjoist

arborrail

•	 Ready-to-install modules only require 
anchoring on-site

•	 Order single components and simply 
preassemble into modules in your own 
workshop, then anchor on-site

•	 Anthracite Grey (RAL 7016 matt textured) 
as standard - can be RAL matched to any 
other colour as a bespoke option

•	 Glass mounting is effortless with the 
unique Glass Wing rubber

01469 535 415
trex@arborforestproducts.co.uk

www.arbordeck.co.uk

MORE INFO AND TO ORDER:

EASY ALUMINIUM GLASS 
RAILING SYSTEM



GLASS - 10mm thickness

Baluster post, Easy Alu, 60x15 mm, H=1065 mm, brushed aluminium, anodized 25µm (16056010718)

Baluster post, Easy Alu, 60x15 mm, H=1065 mm, aluminium, anthracite grey RAL 7016 (16056010733)

Base flange for baluster post, Easy Alu, Ø9 mm, left, brushed aluminium, anodized 25µm (16902606018)

Base flange for baluster post, Ø9 mm, left, aluminium, anthracite grey RAL 7016 (16902606033)

Base flange for baluster post, Easy Alu, Ø9 mm, right, brushed aluminium, anodized 25µm (16902706018)

Base flange for baluster post, Easy Alu, Ø9 mm, right, aluminium, anthracite grey RAL 7016 (16902706033)

Baluster post, Easy Alu, 60x15 mm, H=1240 mm, brushed aluminium, anodized 25µm (16056012418)

Baluster post, Easy Alu, 60x15 mm, H=1240 mm, aluminium, anthracite grey RAL 7016 (16056012433)

End cap, Easy Hit, for baluster post Easy Alu, plastic, aluminium RAL 9006 (24573206036)

End cap, Easy Hit, for baluster post Easy Alu, plastic, RAL 7016 (24573206033)

Bracket for baluster post, Easy Alu, fascia mount, 120x70 mm, aluminium, matt silver effect, anodized (16902806008)

Bracket for baluster post, Easy Alu, fascia mount, 120x70 mm, aluminium, anthracite grey RAL 7016 (16902806033)

Corner bracket for baluster post, Easy Alu, fascia m., 120x70mm, aluminium, matt silver effect (16902896008)

Corner bracket for baluster post, Easy Alu, fascia mount, 120x70mm, aluminium, anthracite grey (16902896033)

Glass rail, Easy Alu, top, 67x19 mm, L=5000 mm, brushed aluminium, anodized 25µm (16595157018)

Glass rail, Easy Alu, top, 67x19 mm, L=5000 mm, aluminium, anthracite grey RAL 7016 (16595157033)

Glass rail, Easy Alu, bottom, 55x25 mm, L=5000 mm, brushed aluminium, anodized 25µm (16595255518)

Glass rail, Easy Alu, bottom, 55x25 mm, L=5000 mm, aluminium, anthracite grey RAL 7016 (16595255533)

Rubber profile for Easy Alu & glass frame tube, L=5000 mm, for 10 mm & 10,76 mm glass thickness (19505901000)

Handrail, Easy Alu, 70x26 mm, to click in, L=5000 mm, brushed aluminium, anodized 25µm (16595057018)

Handrail, Easy Alu, 70x26 mm, to click in, L=5000 mm, aluminium, anthracite grey RAL 7016 (16595057033)

Cover cap for handrail, Easy Alu, straight, horizontal, plastic, aluminium RAL 9006 (24579006036)

Cover cap for handrail, Easy Alu, straight, horizontal, plastic, RAL 7016 (24579006033)

Cover cap for handrail, Easy Alu, 90°, horizontal, plastic, aluminium RAL 9006 (24531306036)

Cover cap for handrail, Easy Alu, 90°, horizontal, plastic, RAL 7016 (24531306033)

Ajdust. handrail connector, 0-90°, Easy Alu, MOD 5313, alu mill-finished aluminium | for indoor use (16531300000)

End cap, Easy Hit, for handrail Easy Alu, brushed aluminium, anodized 25µm (16573207018)

End cap, Easy Hit, for handrail Easy Alu, aluminium, anthracite grey RAL 7016 (16573207033)

Universal plug, UX 6x35, QS-87, for screw M5 x 38 mm (93084063500)

Hexalobular counter sunk head screw, QS-267, Ø8,1 mm, D=4,2 x 38 mm, ISO 14586, A4-70 (93922043814)

Hexalobular counter sunk head screw, QS-268, Ø8,1 mm, D=4,2 x 13 mm, ISO 14586, A4-70 (93922041314)

Hexagon socket head cap screw, QS-30, M8 x 35 mm, DIN 912/ISO 4762, A4-70, Real-Loc (95068083514)

Paint stick, grey anthracite RAL 7016, matt, 12 ml (19080005033)

gARGLASS10

gAREA16056010718

gAREA16056010733

gAREA16902606018

gAREA16902606033

gAREA16902706018

gAREA16902706033

gAREA16056012418

gAREA16056012433

gAREA24573206036

gAREA24573206033

gAREA16902806008

gAREA16902806033

gAREA16902896008

gAREA16902896033

gAREA1695157018

gAREA16595157033

gAREA16595255518

gAREA16595255533

gAREA19505901000

gAREA16595057018

gAREA16595057033

gAREA24579006036

gAREA24579006033

gAREA24531306036

gAREA24531306033

gAREA16531300000

gAREA1657327018

gAREA16573207033

gAREA93084063500

gAREA93922043814

gAREA93922041314

gAREA95068083514

gAREA19080005033

EASY ALUMINIUM GLASS 
RAILING SYSTEM

arborgrip

arborstruct

arborclad

arborboard

arborpad

arborrooms

arborjoist

arborrail COMPONENTS LIST
PRODUCT DESCRIPTION | PRODUCT CODE

V1.1_EAGRS_FEB_2023

FOR PROJECT ENQUIRIES 
PLEASE CONTACT THE TEAM 
AT ARBOR FOREST PRODUCTS

01469 535 415
trex@arborforestproducts.co.uk
www.arbordeck.co.uk


